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g K B % 1050 = 11:10  9:40 9550 1000 10:05 10:10 10:15 = 10:40
= a (‘c) | 106 107 9.9 9.6 9.4 9.4 9.8 9.6 10.0
K a (°c) 9.0 8.3 8.2 7.4 76 7.4 7.2 75 7.4
= E () 5 6 5 6 7 6 6 10 10
Fa i () 20 30 3.0 3.0 50 5.0 50 8.0 12
pH [l 8.1 7.8 7.7 7.6 7.6 7.6 7.6 7.6 7.6
S | A I G (mg/L) | 9.3 9.7 10.2 9.9 9.9 10.1 9.9 10.9 9.5
2 5 #E = = = = = Z A X w =
R&®E(TON) 7 7 7 7 10 6 8 7
TUOETRER (mg/L)| 002 003 002 002 002 004 003 003 004
HHM(EEBRETOC)DR) (mg/L)| 14 15 18 1.6 1.7 1.7 16 19 20
2E,AZ-A7°4Y' 1) (ng/L) | 50K 50K 50K 50K 120 50K 50K 50K 64
2EAZ-ThY IT-) (ng/L) | 20K 20K 20K 20K 20K 20K 20K 20K 20KiE
2-FFAYE VAT (ng/L) | 2R3  2RM 2R 2R 2R 2RE  2RE  2RE  2RE
4+ R =TV (ng/L) | 2RF 2R 2K 2K 2RME 2KRE 2RKE 2KE 2KE
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